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1 State True or False: “Keywords can be used as identifiers in Python.” / € T 1

AT TG "HaSH H AU F GgaAhdl & §9 A SEIATA fhaT ST
ghar §1" Folse

2 | Which of the following is an invalid identifier in Python? / fe=faf@a # & &l 4T 1
U A 37 GgAedal o7 m PYVAICIE T |
(b) Salary / ddel

(c) Account No / a1 ST

(d) EmpID / hatdTd] 3t

3 | Which of the following will delete the key-value pair for key = “Red” from a 1
dictionary D1? / TF=Ifaf@d & ¥ Fla W DI ATHS AGHIA F "Red" Foil

F fou ng:ﬁW IH &N FEITaN?
(a) delete D1(“Red”)/ f3elie D1(“Red”)
(b) del.DI(“Red”) / 3S.D1(“Red”)

del DI[“Red”] / 3& DI[*Red”] \
(d)del D1/ 3T DI




What will be the output of the following statement: print (3-10*%*2+99/11) /
frfaf@a suer & 3m3eqe 41 819 print (3-10%*2+99/11)?

()80  (b)88 _(c}<E8 (d) 81.0

What will be the output of the following code? / fF1faf@a #1831 3y
9

AT @19M? Strl= ‘My name is digital’ / Strl1= "B a1 Bfoea &

Str2=Str1[3:7]
strlen = len(Str2)

(p;;%rrlen)
4 (b) 14 (c) 24 (d) 34

Which of the following functions is used to write data in the binary mode? /
fArfof@a # @ #l9 @1 FFua s A #F 3¢ fows & fov swaam
forar Sar 82

(a) write / Torg=T

(b) output/ 3T3eYC

@#ﬁlﬁnpl?;'q

(d) send / SST=T
Fill in the blank: Keyword is used to display non-repeated values in
MySQL./ e T &< s 1 3T MySQL H IeRTgee et

g arelr AT F Yeiid e & fov fomar s g
(a)Uniququ\ﬁﬁ
(b) Remove / gcTaT

‘ Minct/ feafcae

(d) All/ |8}

"‘s,.




Which of the following commands will change row(s) of the table from MySQL
database? | fATaf@a & & FiF @1 FAE MySQL 2eed ¥ drferer &

gfFaat 7 gcos & o yaer fRar seen?
(a) REPLACE TABLE / REPLACE drtforsr

(b) CHANGE TABLE / CHANGE drfersr ¥ *
! | 4erOPDATE/ 31use \(i)_l

(d) ALTER TABLE / ALTER aiforet \fﬂ

9 | Which of the following statement(s) would give an error after executing the
following code? / faefaf@a & & &l AT FUA/FYUT fAfaf@a #3
& fAsarfed el & a1 FfE e
tup = (20,30,40,50,80,79) / tup = (20,30,40,50,80,79)
print(tup) #Statement 1 / print(tup) #U=T 1
print(tup[3]+50) #Statement 2 / print(tup[3]+50) #hUeT 2
print(max(tup)) #Statement 3 / print(max(tup)) #&hdeT 3 ) :3
tup[4]=80 #Statement 4 / tup[4]=80 #2eT 4 \O
(a) Statement 1 / & 1 .
(b) Statement 2 / A 2 O ‘0
(c) Statement 3 / U 3
@)»Sﬁement 4/ YA 4

10 | Fill in the blank: is a table constraint that will prevent the entry of
duplicate rows. / Red TI U difclerl 9iaeer § Sir

sferre dfFel & wder @t e ¥

;ﬁﬁimary Key / UrIfAs iﬁﬁ'
(b) NULL / NULL

(c) Unique / Jfae
(d) Distinct / fBaféace




11

Which of the following is the correct syntax of file object ‘fobj’ to write sequence

data type using writelines () function? / Ffofaa # O Fia ar a8 RAtsw
& 'fobj WIST TEG I, S writelines () WerleT HT IUANT Feh He[shd 3¢T THFR

formar & fow 87
(a) file.writelines(sequence) / file.writelines (3cfghdl)

(b) fobj.writelines () / fobj.writelines ()
J,v%bj' .writelines(sequence) / fobj.writelines (37sJshaT)

(d) fobj.writeline () / fobj.writeline ()

12

Fill in the blank: 7
HAVING clause is used in combination with clause. / Ra&d ¥

7% HAVING Fairal &l Felol & T AT H 39T fHAr smar

el
(ayGROUP BY (b) Where (c) IN (d) Order By

13

The network that connects many organizations spread over one or more

countries or continents is known as: / alcddh Uil thg &JI6all ol Gilgdl g Uil Teh
7 31feres Seif a1 AgTgIu 3 o> E1d &, 38 el oTTd &:
(a) WWW (b) LAN (c) PAN ey AN

14

Which statement consists of a logical operator? / @1l &T B el Tch dlfbd
3ifqee & g1 87
(a) a+tb**c (b) a >b: J,c»)a/and bnotc (d)2ina

15

Which of the following function can work with NULL values in a database? /

fAeIfsfEad A & el &1 thaeldl SeTad 3 NULL ATell & Tl I e ddhdl 87
(a) avg() /ﬂfﬂum() (c) count(*) (d) total(*)

16

Which command is used for counting the number of rows in a database? /

SeTae A Ufthdl ol e AYeTol & fST Diet &1 datis 3TN AT ATa 82
(a) row / Ufch
(b) rowcount / Gfgs IT0Tel

deyTount() / count()
(d) row_count / Gfch_IT0TalT




Q17 and 18 are Assertion and Reason-based questions. Mark the correct choice: / Q17

3R 18 Feaa 3R wRor-3muia v 81 T8 Reer Rfgaa i

m A and R are true and R is the correct explanation for A / Glall A A RAY
& 3112 R, A T TE ST &

(ii) Both A and R are true and R is not the correct explanation for A / Glail A 32 R

T & 3T R, A BT TE ST o1gl &
(iii) A is True but R is False / A T g Bfdbal R AT &

malse but Ris True/AW%WRm%\y

17

Assertion (A): Function can take input values as parameters, execute them and
return output (if required) to the calling function with a return statement. / &He[o]

(A): Yererel SeTqc dTell bl Ugraflee & & 3 & ddhdl g, 3og folsaTfed e dapdr
g 3f1e 3MM3eYe (Ife 3TTeTD &) B! BifesI therelel Bl Rieef eeedic & drer amug

& ADHdl gl /\/

%

Reason (R): A function in Pythéél return multiple values. / TEUT (R): UTT [T
& U thorelet U & 3IfEldh ATel Bl dahdT &

18

Assertion (A): Pickle in Python is primarily used in serializing and deserializing a
Python object structure. / @ &dT (A): Wwﬁﬂwwwméwww

geq dede o itz 3E SAfumsisy deal & fau 3T fdbar amar g

Reason (R): pickle. dump() method is used to write the object in file and
pickle.load() method is used to read the object from pickled file. / TTCUT (R):

pickle.dump() 328 31 ITLNT e o WTees 3 3wl & AT 3T pickle.load()
erg BT 3T Aees o) I ThTRes @) deq] b Ugel A (ST fAsar oTrel &1




SECTION - B

19

Shristi has written a Python program to add all the numbers of the list. Her code
is having errors. Rewrite the correct code and underline the corrections made.

define sum(numbers): / 9t o Teh UTTereT Hiona fob e & Uil epeft o et efemsit
DI FAISal 81 3D BIs | Ffeai g1 gt s fise & f3a e fabT I8 Femet bl
fbd del J CuM (\(\.p\f\uv

~ Toalzo u& oded = O

for x in numbers %

Ctotal+=x ™ é{y" £y

returns total
print(sum([4, 6, 3, 5, 6]))

20

What is the use of Modem and Router in a network? / dcdd & Al 3012 213ee
T YTV AT &2

OR
Write two points of difference between Star topology and Bus topology. / eCle

aidteslot 3fie a& eraieioft & ot o 3ide 5|

21

(a) Given is a Python string declaration: / foldoif3id UTIele fagar giwur &t 18
g |

mySubject = "Computer Science with Python" K TR
(i) Write the output of: print(mySubject[-27:-10:2]).5, ¥ 7 TO

(b) Write the output of the code given below: / fGC ITC @IS @ 313eYe & |
>>>a=[10,20,30,40,50,60,70]
>>> a[3:5]=[100,1000]
>>> a[3:5]=[10000]
>>> print(a) [’:

22

What is the difference between ‘Primary Key’ and ‘Foreign Key’? Can a table have

multiple Primary keys or Foreign keys? / WTgd1dl &bl 31T 'Bidel bl A & 3ide
&7 TRT U a3 3 g WTEad! bl AT Wl el ohl 81 el 87

23

(a) What is the use of VoIP? / VolP @5 3UZIT T &7
(b) Write the full form of: / folasTfeSfad o1 921 & fa: (i) POP (ii) XML




24 | write the output of the given code: / fGT 1T I8 BT 31’[3?7{{,3@?3 2
def Display(L)g‘
L2=(]
fotnin L:
ifn%2==0; ouwax[\w,am,%?,
L2.append (n) bl .
return L2 (“ O 8 O,]
print(Display([100, 228, 333, 432,'509, 60, 787, 800, 967]))
25 | Write two commands each of DDL and DML commands in SQL. / SQL & DDL 3{1Z 2
DML & Uh o ¢ thalis foved|
SECTION -C
26 | (a) Consider the following tables — CARDEN and CUSTOMER:/ faldeifasfad 1+2

arfsan13il Ue fade &¢ - CARDEN 3112 CUSTOMER:

TABLE: CARDEN TABLE: CUSTOMER
CODE | CARNAME | CHARGES CODE CUSTNAME
501 | A-STAR 18 1001 Hemant Sahu
503 INDIGO 16 1002 Raj Lal
502 INNOVA 15 1003 Feroza Shah
509 SX4 14 1004 Ketan Dhar

What will be the output of the following statement? / foldolfofEd defel &
3M3cYe T ENT?

SELECT * FROM CARDEN, CUSTOMER

(b) Write the output of the queries (i) to (iv) based on the table, STOCK given
below: / afd fET 1T A5 apT, STOCK 5 3MEME UL (i) T (iv) T o T%aTl i 3MITYE

foa:

Table: STOCK

itemNo Item Dcode Qty | UnitPrice | StockDate
5005 Ball Pen 0.5 102 100 16 2010-03-31
5003 Ball Pen 0.25 102 150 20 2010-01-01
5002 Gel Pen Premium | 101 125 14 2010-02-14
5006 Gel Pen Classic 101 200 2 2009-01-01
5001 Eraser Small 102 210 5 2009-03-19
5004 Eraser Blg 102 60 10 2009-12-12
5009 Sharpener Classic | 103 160 |8 2009-01-23




Table: DEALERS

Dcode Dname

101 Reliable Stationers
103 Classic Plastics
102 Clear Deals

(i) SELECT Dcode, MAX(UnitPrice) FROM STOCK GROUP BY Dcode;
(i) SELECT COUNT(DISTINCT Dcode) FROM STOCK:

(iii) SELECT Qty*UnitPrice FROM STOCK WHERE ItemNo=5006;
(iv) SELECT MIN(StockDate) FROM STOCK:

27 Write a user-defined function Count_H_T() in Python that displays the number of lines 3
starting with ‘H’ and ‘T’ in the file “Poem.txt”. / Bch U NThAl-Tf2afSd tharere
Count H_T() {5, T "Poem.txt" BIES & ‘H 3T T & Bﬁmwmﬁ
& vefeld dear gl
Example, if the file contains: / 3GIg§2UT & [T, fe s A Tg fSEn g:
Here we go round the mulberry bush,
The mulberry bush,
The mulberry bush.
Here we go round the mulberry bush
On a cold and frosty morning.
The line count should be 4. / T <h JTUTa 4 glof! AIREI

28 | (a) Write the outputs of the SQL queries (i) to (iv) based on the relations 2+1=3

MOBILEMASTER & MOBILESTOCK given below: / 5f1d fT ITZ MOBILEMASTER 3112

MOBILESTOCK Zi&eff &5 3MTEME T2 saL WSl (i) & (iv) deh o 313eye foa:
TABLE: MOBILEMASTER

M_id M_Company M_Name M_Price M_Mf_Date
MBO001 Samsung Galaxy 4500 2013-02-12
MB003 Nokia N1100 2250 2011-04-15
MBO004 Micromax Unite3 4500 2016-10-17
MBO005 Sony XperiaM 7500 2017-11-20
MBO006 Oppo Selfiex 8500 2010-08-21




TABLE : MOBILESTOCK

S_id M_id M_Qty M_Supplier

S001 MBO004 450 New Vision

S002 MB003 250 Praveen Gallery
S003 MB001 300 Classic Mobile Store
5004 MBO0O06 150 A-one Mobiles

S005 MBO003 150 The Mobile

S006 MBO006 50 Mobile Centre

(i) SELECT M_Company, M_Name, M_Price,M_Qty FROM MOBILEMASTER MM,
MOBILESTOCK MS WHERE MM.M_ID= MS.M_ID;

(i) SELECT MAX(M_Price) FROM MOBILEMASTER WHERE M_Name LIKE "S%"; (iii)
SELECT M_Supplier, M_Qty FROM MOBILESTOCK WHERE M_ld ="MB003"; (iv) SELECT
M_Company FROM MOBILEMASTER WHERE M_Price BETWEEN 3000 AND 5000;

(b) Write a command to open an existing database ‘Stock’. / WQ’HWEI SCIad 'Stock’
P! BBl b (BT Th dhATs fesad:

29

Write the definition of a method COUNTNOW(PLACES) to find and display those
place names in which there are more than five characters after storing the name

of places in a dictionary. / Tch faf&h cOUNTNOW(PLACES) bt Tf2aiTaT fosed &l 3o
RToll & o119 Go 30 Uafeld oe [t Ui & 3ifids guf & ZITeil & aiTdit bl
erChiel A 28I heal & dIg|

For example, if the dictionary PLACES contains: {'1': "DELHI", '2': "LONDON", '3":
"PARIS", '4': "NEW YORK", '5': "DUBAI"}
The following output should be displayed: LONDON NEW YORK

30

A list contains the following record of a Hostel: / Th Tt & glece @I
fadsifesfaad f3ehie &: [Hostel_No, Total_Students, Total Rooms]

Write the following user defined functions to perform given operations on the

stack named ‘Hostel’: / faidtfos A d 3T NTHR Al TS d BT B ‘Hostel’ STTHD
&b U AT ITC 3iTuerse o) fawifed dheel & 3T 53

(i) Push_element() - To push an object containing Hostel_No and Total
Students along with Total Rooms to the stack / Push_element() - Z¢cb

& Hostel_No, Total Students 3{IZ Total Rooms & &1/ TH 3fferde Yerl
Heal & T




(ii) Pop_element() - To pop the objects from the stack and display them.
Also, display “Stack Empty” when there are no elements in the stack.

/ Pop_element() - ¢ & iTerare el o1 U1Y dhedd 3Jog valeld ddal b
fATITg P A HIg CfSdAT ST &, al “Stack Empty” Wefelfd &

For example: / 3GT&2UT & [ST:
If the lists of Hostel details are: /Uﬁﬁmﬁa?wﬁqﬁﬁsam@
[1,2000,1000]

[2, 1500,800]
[3,5000,2000]

The output should be: / 3T3CYC & UchI glall ATEC:
[1,2000,1000]

[2, 1500,800]

[3,5000,2000]

Stack Empty

SECTION -D

31

Sony has set up its Branch at Srinagar for its office and web-based activities. It has

four zones of buildings as shown in the diagram: / Sony o 8ffelo e A 3ol g
3i1C da-3MMeMfea arfafafern & fo5T 3rdeft e @i &t &1 3 e 8fdel SiAt
Pl sicdd g uidll a5 M & R I &1

o R

10




Branch-to-branch distance is:

Zong Xto Zone?Z 40m
Zone Zto Zone Y 60 m
Zone Y to Zone X 135 m
Zone Y to Zone U 70m
Zone X to Zone U 165m
Zone Zto Zone U 80 m
Number of Computers:
Zone X 50
Zone Z 130
Zone Y 40
Zone U 15

(a) Suggest the most suitable cable layout or Networking Topology of connections

between the zones./ Gilel b St dolcrelell b fBT AT IUYTh b HAHIIC AT
Siedfehar eTaTmIoft Bl GeiTa 3
(b) Suggest the most suitable place (i.e., Zone) to house the Server of this
organization. Give a suitable reason with justification. /8& Z9T6dl & ddE I
T & [T dad IUGTh TS (ATefl, &7) &1 FaTd ¢ IRAd BHIevr & el &gt
fageor <)
(c) Suggest the placement of the following devices with justification: /faldelfefEd
el ot feRifd T &eira & 3iie Joich IULMT &1 3 HT20T §aTt:

(i) Repeater / (i) Rffee (ii) Hub/Switch /(ii) g8/f&dd
(d) Which is the most economic type of cable for the selected topology? / Tdfaid
crTeIut & S FHae fAthrerd UahTe BT haes Biol |1 &2

(e) Suggest a device/software to be installed in each branch to take care of data

security./Sicdlch 2ITETT 3 3T ZE&f BT eTol &0l &b fT Ueh IUhevl/STredd?
CAE IR

1"




32

(a) Write the output of the code given below: / 51T fGT T I3 &1 3T3eYe 3

Val =100
def display(N):
global Val
Val =100
if N%2==0:
Val=Val ** N
else:
Val=Val *N
print(Val, end="$")
display(2)
print(Val)

(b) The code given below inserts the following record in the table Fun_City: GiE]
ST 1T IS AIfH DI Fun_City 3 faldeifefad flomie sTadl &:

Ticket_Id = integer
Name - string
Ticket_Price —integer
No_Of_Tickets — integer
Total_Amount — integer

Note the following to establish connectivity between Python and MySQL: /4T fel
31e mysaL & dta daifaefadt @nfid weet & T fadaifeiad o eaTel A 2a:

* Username is root /JuTdald & root

¢ Password is Ticket /JT&d3 g Ticket

* The table exists in a MySQL database named Amusement. /dTfesasT MySQL
SCTEE 3 "Amusement" T & H1vlg g

* The details (Ticket_Id, Name, Ticket_Price, No_of_Tickets) are to be
accepted by the user. /fdqgur (Ticket_Id, Name, Ticket_Price,

No_of_Tickets) aﬁmfm dloTe fosar AT 21
Write the following missing statements to complete the code: [PIS ﬁqmﬁﬁ
& U fewfafad i &2 fRifa o
Statement 1 - To form the cursor object/@ (e aeq dallel & fSE
Statement 2 — Write a command to execute the command /3{T¢el fasqrfed cheat
& ST sder fbed

2+3=5

12




Statement 3 — Write a command to save data permanently in the database. /sel

D1 3T H @Mt &u & FaTel & BT 3meel [

import mysgl.connector as mysgl
def sql_data():

con=mysql.connect(host="localhost",user="root", password="Ticket",
database="Amusement")

mycursor=. #Statement 1

Ticket_No=int(input("Enter Ticket Number :: "))

Name=input("Enter Name :: ")

Ticket_Price= input("Enter Ticket Price :: ")

No_Of_Tickets=int(input("Enter No of tickets :: "))

Total_Amount= Ticket_Price * No_Of_Tickets

query="Insert into Fun_City values({},'{},{},{})".format(Ticket_No, Name,
Ticket_Price, No_Of Tickets, Total_Amount)

#Statement 2
#Statement 3
print("Data Added successfully")

33

What is the function of csv.writer() function? /csv.writer() Ypcrelel &bl ST ol 82

Write a program in Python that defines and calls the following user-defined

functions:/ITs e A Th HINITH fo e Tl foldsifosfad Ui dt. e haeid
@I ufHTed 31T Bl de: . .

(i) AddRecord() - To accept and add data of Mobile phones to a CSV file
‘Mobile_Phones.csv’. Each record consists of a list with field elements as ModelNo,
MobileName, Manufacturer and Price to store model number, mobile name,

manufacturer and price respectively. / AddRecord() — AT Hlal &l 3¢l dihrdal
32 3 csv WIgs ‘Mobile_Phones.csv’ & Wigal & ST Ueh fdehis o T Eﬁﬁ
gidt % fAaH hies da gd % ua ModelNo, MobileName, Manufacturer 312 Price,
Al eI HIE Fiare, HaTEes oTre, farfar e ew ol &EIe Hed &l

(ii) Find() - To search the records of mobiles manufactured by Apple present in the CSV
file named ‘Mobile_Phones.csv’. / Find() — CSV TBTE® ‘Mobile_Phones.csv’ & FIU[G

Apple gTeT folfafd Aarses o RabTd o) EHal & fST|

13




OR

What is the benefit of using “with open()” method over “open()” method while
opening a file? / WIS BIca &7 “open)” fafe) 5t gedell & “with open()” fafel
BT IUGNT Fdel BT T BTH 87

Write a program in Python that defines and calls the following user-defined

functions: /ATSeeT A Teh WA [ @ &) gt f@d SudNThal-faeffed haeid
@I UfRaHTfed 31T B> e

(i) Add_ltem() — To accept and add data of stationery items to a CSV file
‘Stationery.csv’. Each record consists of a list with field elements as Item_Id,
ltem_name and Item_price to store item id, item_name and item_price. /

TCRISTH SATSTI T 32T TtehTeal 3fig 3& CSV WIS ‘Stationery.csv’ 3 wilgal b
fo5tl ud® RbiE & v =t Gt @ Aerdt Bieg dad €1d & T Item_Id,
ltem_name, 3{I2 ltem_price, Tt Shatel: 33 3MMaal, 3Tgcd oild 31T 3sca
Ao B R Hed Bl

(i) Count() — To count the total number of stationery items in the CSV file. / CSV

W50 A ECereTdl ATgedd ol s & fForal o Tl

SECTION - E
®

34

Krishna, working as a computer professional in a hospital, creates a table OPD to store
records of patients registered in the OPD section. A sample of the records is given below:

P, 5l T 3EUATS A BRIce Jae & &U & BHId B 28 &, OPD THE olld &
darfds opp darelel & Uuftapeut fast ITw ardioil & fah1e o Eete faban il &bl

TABLE : OPD
Reg No Name Age Department Dateof_Reg | Charges | Gender | Room No
RO123 Arpita 62 | Gen. Physician 2022-01-21 500 M 10
RO124 Jal 22 | ENT 2022-10-12 300 M 15
R0O125 Kamal 32 | Orthopaedic 2022-02-19 500 M 11
RO126 | Arun 12 | Paediatriclan 2022-07-11 500 M 12
R0127 |Neha 30 |ENT 2022-01-12 300 F 15
RO128 | Neetu 16 |ENT 2022-09-24 300 F 15
R0129 | Ankit 29 | Cardiology 2022-02-20 800 F 20

1+1+2=4

14



ET———

Based on the data given above, answer the following questions: /&Ue G ITE 3e1
& IHTERE UL fAaiodEd vsall BT 3de e

(i) f the table “OPD” is to be linked with another table “Registration” in the
same database named “Hospital”, then identify the most appropriate
column which can be used as a Foreign key in the “Registration” table. /afe

“OPD” S I 3t SCTHE “Hospital” H Toh 3l I “Registration” a
GISTHATGT 8, dl “Registration” S8® & fageft hufl & &4 & IuTWT fdhT Arel
& [T T IUYTh DIcdd ol UgdTel Bl

(i) Whatis the cardinality and degree of the given table?/ &1 I8 aTfcschT bt
hifgefese! 3ile feoft &2

(iii)  Write the statements to:

(a) Insert the following record into the table: [forgsifesfaEd féchis ol
difS T A TfeAfsd Beal & fBT BHeel fobed: RegNo—-R130, Name—

Naman, Age-30, Department-ENT, Dateof Reg-2022-10-10,
Charges-700, Gender—-M.

(b) Increase the OPD Charges of the ENT department by ¥ 200./ENT
fd8f1 S OPD 2[ceh T 200 & TEICI

35

Vedansh is a Python programmer working in a school. For the Annual Sports
Event, he has created a binary file ‘Result.dat’ with Student_ld, St_Name,
Game_Name and Result to store the results of students in different sports events.
After the event has been completed, he now wants to display the records of those
students who won the game, which is inserted in the Result field with ‘Won’ and
‘Loss’ data. As a Python expert, help him complete the following code based on
the requirement given above: / 372l Teh UTI2/eT WINITATE & Uil U & & dlal

e 28 §1 d1teh W 3MMioTol & fST, Ioaiol Ueh dTgeTd] WIS ‘Result.dat’ Sells
AGEE Student_|d, St_Name, Game_Name 3{Z Result K difs 12t & HS
3ol & URUIT! 1 12 fasan AT &1ds| 3TaoTel &b &Te, I8 3§ 31 Bl b
@%gmﬂw%%%. Y a5 Result T5Teg & ‘Won' 31T ‘Loss' 3T
& T2 315 91T &1 U UTIelel fAdsT & & &, JoTeht e e 3Me st AT e
3TIRTDHAT3 & ATETE UL PIS LT el

1+1+1+1=
4

15




import_____ #Statementl
rec=[ ]
while True:
Student_Id=int(input(("Enter Student 1d:")))
St_names=input("Enter name:")
Game_Name=input("Enter Salary:")
Result= input(“Enter Result:")
data=[Student_Id, St_Name, Game_Name,Result]
rec.append(data)
Choice=input("Wish to enter more records: Y/N")
if n:o,nmbvcmﬂc“_z_n
break
fl= #Statement2
pickle.dump(rec,f1) _
print("Record added:")
fout=open("Result.dat",'rb')

res=. #Statement 3
count=0
foriin res: ’
if : #Statement 4
“st_id=i[0]
st_name=i[1]
games=i[2]
result=i[3]
count+=1

print(st_id,st_name,game,result)
print("Total students are", count)
mocﬁ.n_o.ﬂ,m:_

(i) Writea mﬁmﬂm?m:ﬁ to import the module. (Statement 1) \mﬂ_\% 3TITd heal
& fAT T wede f5dd| (geede 1)

(i) Write a statement to open a binary file in write mode. (Statement 2) / SgaTdt
TISe ol foseial & AIE & el o [0 U gecdic [H| (Zeedie 2)

(iii) Write the correct statement required to load the file. (Statement 3) / BIs®
P18 Tdol & (BT ATaLTD dTg] &ecaic [Ba| (TCTHT 3)

(iv) Write a statement to check if result field contains ‘Won’ or ‘won’. (Statement4) / Tch

ZedT 3@ W) Ig A fds T result 1o & ‘won’ T ‘won’ B (ZCTAE 4)
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